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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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necessarily a greedy 
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Initialize all edges of the flow graph with zero flow
Loop while ∃ a path in Gr from s to t

find a path in Gr from s to t (augmenting path)
Add to the flow graph the minimum residual capacity from this path
Reduce the residual capacity of the edges
Add a reversed path in the residual graph

end Loop
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Ford-Fulkerson Algorithm - Example
Algorithm terminates as there are no more paths from source 
to sink in the residual graph. 

Final graphs are shown below.
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